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1. (4 points) Let # =[0,1] x [1,2] x [2,3]. Find
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2. (8 points) Evaluate
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sin~ ! (y)

You should assume that sin™!(y) has range -7, 5].

N

(Hmt At some point in your solution, it might be useful to use the substitution u = cosx )

Step | 2 dvaw the domoun Step L swap ovd

x=T2 c 4 T
Y ocx <l
& — i ter——>
'.E, -‘% | % %— T A
v
_‘S_M5: crvnpwi
Tt cinx wlz
S Y CoS A - S. [ cosx siny
e dyox ye o Ax
9 0
Th
Sc'%nxeaudw = §V\=C°u
AW =—SAN¥ AN
o
T Wit 1r
forun = [ ] @)

-(°-e') = - (1-¢) ‘-—



Math 32B - Lecture 4 Midterm 1 - Page 4 of 6

3. (10 points)

(a) Let 2 be the region in the (z,y)-plane bounded by x =0, y = ¢* — 1, and y = 1. Use a
double integral to compute the area of Z.

) Let # be the 3d region above & and below the surface z = 1 —y. Use a triple integral to
compute the volume of 7.
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4. (8 points) Let 2 be the region where —2 <z <y < 0 and 2% + 32 > 1. Evaluate
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